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(1) 2x 5= (15 2x 3= 29 2xX 8=

(2) 2x6= (g 2x &= an 2x9=
(3) 2x 7= am 3x 1= an 2x0=
(4) 3x5h= g 3x2= (32) 3x 8=
(5) Ixb= (e 3x3= 13 3x9=
6) IxT= 20 Ix b= ) 3x0=
(7) 4x 5= (2 &x 1= (35 4x &=
(B) 4xb= 22 4x2= (8 4X Q=
(9) 4x 7= (73) £x 3= 47 4x0=
1y bx b= 24) £x 4= () hxB=
(an Gxé= 25 5x | = 9 Exg=
(12) Gx 7= 26 5x 2= @) 5x 0=
am 2x | = 2 65X 3=

(4 2x 2= (28) Hx 4=

& Pilihing e, P



2-D| its >< p

There are 2 boxes containing 13 notebooks each.

How many notebooks are there altogether? 10pains
{add) {Multiphy )
I 3 1 3
4+ 3 x 2

L] L] ’
(Ans.) [ | nosisooks

® There are 2 boxes containing 34 pencils each.

How many pencils are there altogether? 10 pains
{Add) {(Multiply)
3 4 3 4
el N 1 2
{(Ans.) | | pencils

There are 2 boxes containing 62 erasers each.
How many erasers are there altogether? 10 peis
(Add) (Molfply)

6 2 6 2
+ 6 2. X 2
N O] w
(Ane.) l—]arasem

14 £ vy Pbintng £a, fad




§ peintsper questian
() 24

(12) 4 4
w% 2

(13 6 4
x 2

(14) B 4
x 2

Excellent! You're daing really welll

Bl Novsmsins oiaiyns s, el 15
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